Part List FSB36 Unit:inch
No| Picture | Specification Qty ] 5
A | ™mgy  |Screw @3*1/2" 32 l\ | X.
B | "™wu, |Screw @33*5/8" 3 ® B
C | gy [Screw @4*5/8" 4 [ ';|"
D| & |CornerBracket 4 RN >~
> />
H / /
: M.eTOI Clip 4 Left Door \”6”' Right Door Y
F ®Q | Hinges 4
G| @ |Bumper 4 4 ‘ S |
Left <G5 Right <3 >y
Side Panel /s Side Panel /o Panel
7 8 9
N \E; )
Back 4 Front Back
Panel Toe kick Toe kick




Assembly instructions

No| Picture| Specification |Qty[No| Picture| Specification |Qty
A | ey Screw @3*1/2" [ 32| E % Metal Clip 4
B | ™y, | Screw @3*5/8" 8 | F Hinges 4
% wy | Screw @4*5/8" 4 1G =] Bumper 4

(] Corner Bracket 4

step 5
page 1 of 1
(FSB36)




